T2 3FE(EI 7ME)

U2 =7 TN RFEHE BB TR
(BF12m~148) HEX
7A21H(K) EME15%R1504
6,407YARD PAR72 i TV EVET LB EED
B K & i B O RE|OUT|I N|A | & =
1 Wm X E |[EWER . 3| 36| 38| 74|FEEB
1 (fE B R |EERMEAED 1 | 35| 39| 74 |FEEB
3= B & & |(WOR P 2| 40| 39| 79|FHEBEB
4K W E X |[R F 3 | 39| 41| 80 |FE@A
5|k B — B[R 3 | 41| 43| 84
5|M & i+ =8 k. 3| 39| 45| 84
E R = X |BEF 1 | 42| 43| 85
8| B X & |tET 1 | 43| 43| 86
IlfE B B # |ERP 1 | 46| 41| 87
I F R |&E & 3 | 43| 44| 87
M= £ % 3} |BEPEHF 2 | 45| 47| 92
128 # # B |FIEPER . 1 | 46| 52| 98
13 & F # |FRARIREH 3 | 51| 53| 104
1413 & X & |HFRARREG. 3 | 53| 53| 106
15/ & 8 E  |BERP . 2 | 59| 55| 114

1/1R=2 hETILESR



	男子12～14歳

